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Find a formula for the truncation error if we use F,(x)to approximate on
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a If cos(x) is replaced by 1- % and |x]<.5, what estimate can be made of the
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b. Does I-? tend to be toslarge or toamall.
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The approximation J1+x = 1+=is used when x is small. Estimate the error when
| <.1
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a. e first 4 terms and the general term of the Taylor ‘imes gf,m.mtcd;by
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b. Use the result in part (a) pe-<fffidshe fourth order polynomial and the general
term of the series generated by w tx=3,
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C. Use the series in part (b) t
than 0.05. Justify your answer.
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The Taylor Series fi sntered at x = 1, is Z_( D™ (1)
n

83,

. Let fbe

the function given by m of the first three nonzero u,rms of this series. The

maximum value of | for 3<x<17is
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